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FOOD PRODUCT TECHNOLOGY-I

" Paper : FPT 401
(Fruits and Vegetables)
Full Marks : 100
Time : Three hours

The figures in the margin indicate
full marks for the questions.

Answer any five questions.

1. (a) Classify fruits based on their maturity
and ripening process. Give examples.
2+2=4

(b) Write the biochemical changes during
ripening of fruits. 4

(0 Define Maturity Index. Explain any five
maturity indices. 2+10=12
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(b)

(b)

(c)

view of Cashew nut processing.

Mention the flow diagram for Ketchup

processing and mention any two

production problems. 5+2=7

Mention the types of tea. 5
Give the flowchart showing the overall

5

Explain about the net processing
method of Coffee manufacturing
process. ey 10
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